SA: sS4
Ha: DEI SAS MAIIE 1S
oIt AIZFO| OFEE MAD|BF TE (esl:@g
_ _ _ Muo
SN HE - SR(SH) - MBAY - B S Abod e HlnE2
= 4D} 189,226,267 194,779,478 A5,553,211
= 145,964,670
3 7,633,000
| 8,049,246
= 27,579,351
DEE SHS MADIE 2E 189, 146,467 194,699,678 A5,553,211
2 145,964,670
3 7,633,000
| 8,049,246
= 27,499,551
AZro| OIE I MAD|BH 4,183,146 2,828,546 1,354,600
2 300,000
| 400,000
= 3,483, 146
B 2E82% 4Nl 960,000 960,000 0
403 XHXISHI S XH2 0| & 960,000 950,000 10,000
01 IS =LE 960,000 950,000 10,000
Ob BE=KRF & 950,000
OB BEKLIH X 10,000
Ega 203 HRAAT 450,000 480,000 30,000
403 X+ GHRIS K20/ & 450,000 480,000 30,000
01 MXSHK2SE 450,000 480,000 30,000
OB 305 A
00,000, 00024 * 157H 2 * 15% 450,000
SO OIFALE FHIXI 188,200 110,000 78,200
403 X+ GHRIS XH2 0/ & 188,200 110,000 78,200
01 MXISAK =L = 188,200 110,000 78,200
O= Ot H AR &Y
0,0002 x23, 52541 € *20% 188,200
BAZOD B2 X 216,000 240,000 24,000
403 XHXI SHAI S XH2 0| & 216,000 240,000 24,000
01 RXSHHR =SS 216,000 240,000 24,000
oMo 22 300, 000 *3, 600CH +20% 216,000
DEI 42 MDY 14,460 7,560 6,900
201 Yer2g| 11,460 5, 160 6,300
01 At 5, 160 5, 160 0
ODNEISMS M4 5, 160
02 Z2=2ZY| 6,300 0 6,300
OFA0Bt =285 2¢ 6,300
203 YLEXY| 3,000 2,400 600
03 AIMZRHREAY 3,000 2,400 600




SN SATD
HE: DEY SAMS MAIIE RS
oIt AIZFO| OFEE MAD|BF TE (9l & 2
_ _ _ Muo
SN HE - SR(SH) - MBAY - B S 04l &k 24 e HlnE2
OsMHREZ 3,000
590l OHHTH 2EHE X 994,986 994,986 0
308 XHXISHH SO & 994,986 994,986 0
01 MXSHBABES 994,986 994,986 0
Os20 HHTH 2HE X 994,986
=x2 NHLEz X 200,000 0 200,000
308 XHXISHH SO & 200,000 0 200,000
01 MASHHZHSES 200,000 0 200,000
Osxeg Wi2e2 N 200,000
DEIN ANIYN |4 372,000 0 372,000
= 300,000
= 72,000
403 XXISH SR 201 372,000 0 372,000
= 300,000
= 72,000
01 MXSHMAZDE 372,000 0 372,000
ONBIA HNAYH |4
300,000, 0002 *27H 2 +62% 372,000
= 300,000
= 72,000
BE S 30,000 0 30,000
307 QI2H0I 30,000 0 30,000
VEIEPEES 30,000 0 30,000
OB HASTH 30,000
PN SUE FHAY 520,000 0 520,000
| 400,000
= 120,000
403 RHXISHH SX20|H 520,000 0 520,000
| 400,000
= 120,000
01 MXSHMAZDE 520,000 0 520,000
ORXS SUC FHAY
1,000,000, 00021 *17H 2 +52% 520,000
| 400,000
= 120,000
TSYHI B2 L H2YHG S4 200,000 0 200,000
403 RHXISHSR20IH 200,000 0 200,000
01 RXSHAZSE 200,000 0 200,000
OZSYRI B2 ¢ M2 SHY 84
00,000, 0002 *57H 4 *15% 150,000
OREI| XA (2Y) 50,000
e =SAE 22 N 37,500 0 37,500
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SN
X XH .
S Tt

el

=4t
DEI 42 MADIE PS
MOl QIFX MAD|E PE

_ _ HEc
SA - SR(E) - HRAY - BES 0 & 24 i HIRE
403 RHXISHHSAHEO0IH 37,500 0 37,500
01 XHXISHH RS2 37,500 0 37,500
OFEZ =SAE B3
1,250,000 *200hax15% 37,500
MNP SAI|B TN 45,893,560 41,588,556 4,305,004
= 29,709,568
= 1,000,000
= 15,183,992
HYBHY WsTHE X2 9,700,000 8,996,000 704,000
403 RtXISHHSKHE0IH 9,700,000 8,996,000 704,000
01 RXISHREEE 9,700,000 8,996,000 704,000
OBZ2HE M=THIE X2 (1558ha) 9,700,000
HBA AN PE A ALY 1,300,000 1,820,000 520,000
= 1,000,000
= 300,000
403 RHXISHHISAHE O 1,300,000 1,820,000 520,000
= 1,000,000
= 300,000
01 RXISHHR =X 1,300,000 1,820,000 520,000
OFEZ=LXNREH
500,000, 0002 *5JH A *52% 1,300,000
z 1,000,000
= 300,000
EYMBH 2EAEY 10,871,474 10,800,040 71,434
= 9,663,500
= 1,207,974
403 THXISHHSAHEO0IH 10,871,474 10,800,040 71,434
= 9,663,500
= 1,207,974
01 XHXISHHAE X 10,871,474 10,800,040 71,434
OELNYH B3(F4H) 7,307,220
= 6,495,290
= 811,930
OELNYH B3(43l) 3,564,254
= 3,168,210
= 396,044
=01 ATAEY 5,850,000 5,850,000 0
= 4,500,000
= 1,350,000
403 RHXISHHSAHEO0IH 5,850,000 5,850,000 0
= 4,500,000
= 1,350,000
01 RXISHR X 5,850,000 5,850,000 0
O=JI1 YA 1,000,000,00021 ¥97H 4 +65% 5,850,000
= 4,500,000
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SH: s
Ha: DBE SA42 M8 RS
SR Y -DIERE Y- (e
5 o HEc
SAN-ZH-SA(FA) - NRAY - BES Off &F o4 Ofl At ot Hws2
| < 1,350,000
ANES AUNE HBLMAY 1,007,750 1,017,900 210,150
= 695,000
= 312,750
308 X+XIEHHIS Ol & 1,007,750 1,017,900 £10,150
=2 695,000
= 312,750
01 MASHHZAHSEZ 1,007,750 1,017,900 ~10,150
OFNSRHSLH AL 1,007,750
= 695,000
= 312,750
SHIRE X0 XA 572,414 465,678 106,736
= 381,609
= 190,805
403 XX SHHIS XH2 0/ & 572,414 465,678 106,736
=2 381,609
= 190,805
01 RXSAXZSE 572,414 465,678 106,736
O=HI= S X0 X2 (3,200na) 572,414
= 381,609
= 190,805
ASASANS MAT ALK 20,000 25,000 A5,000
307 2120/ H 20,000 25,000 A5,000
02 QIABABE 20,000 25,000 A5,000
OXSHSMNS MAT AL 20,000
MRS AMS oSH X 67,500 76,500 A9,000
308 X+XIEHHI SO & 67,500 76,500 A9,000
01 MXSHHZAHSES 67,500 76,500 £9,000
OXBASANES ASH N 67,500
Y=HII2 +HEIIE X 90,000 90,000 0
403 XX SIS KHZ 0 & 90,000 90,000 0
01 XEXISHAXE 2 X 90,000 90,000 0
OYsHIIS +HEINE X
500, 000! *60074 *30% 90,000
HSHST K2 270,000 300,000 30,000
403 XHXISHAIS XH2 0 H 270,000 300,000 30,000
01 XIXISHAX= S 270,000 300,000 230,000
OMSHSKM X 1,000,000 *1,800na*15% 270,000
=J12 B2X & 959,900 861,000 98,900
403 XX SIS KHZ 0 & 959,900 861,000 98,900
01 RXSAX =S X 959,900 861,000 98,900
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SN SATD
M DEX S42 MMDIE RS
el AEYsIIY £Y (e d e
SN C(BH) - HMRAY - HES Ol &k o S HlmE2
OsJIH 3= XNA(11E) 829,900
OZ2J 8&s &1 A& 30,000
OZ=sTMestE 2 =sI(H eldy &1 X
# 100,000
e sHAEXNEAMS XA 3,519,000 1,737,159 1,781,841
= 3,519,000
308 AXIHMSOIA 3,519,000 1,737,159 1,781,841
= 3,519,000
01 IXNHMBAEEXS 3,519,000 1,737,159 1,781,841
Or e B ==& X2 AH (6,800ha) 3,519,000
= 3,519,000
JdASHII XN EAMS XA 1,326,352 194,419 1,131,933
= 1,175,249
& 151,103
308 MHXIHHMSOIA 1,326,352 194,419 1,131,933
= 1,175,249
= 151,103
01 AXSMIBAEEXS 1,326,352 194,419 1,131,933
OZ2BEAHX S AL (1,19ha) 1,326,352
= 1,175,249
& 151,103
Il XA 9,565,210 9,106,000 459,210
= 9,555,210
& 10,000
308 MHXIHHMSOIA 10,000 0 10,000
01 AXNSMIBAEXZ 10,000 0 10,000
ORII&Hlg Z&H XA 10,000
403 XX SHHSK=01H 9,555,210 9,106,000 449,210
= 9,555,210
01 MXESHMA=2EE 9,555,210 9,106,000 449,210
O8Itz X3 (165 E) 9,555,210
= 9,555,210
TEE a2 S LS XA 80,000 120,000 240,000
= 40,000
& 40,000
307 212t01& 80,000 120,000 240,000
= 40,000
& 40,000
02 BI2tAAEX 80,000 120,000 A40,000
OREAsMS AF B3 N
80,000& 1,000 80,000
= 40,000
& 40,000
sy 2d F8X XA 12,960 12,960 0




A
I‘IiH:
C}—Ol:

_ _ HEC
SA-FH - SA(SAH) - MREAY - BES Off &k OH Ofl At ot Hws2
308 XHXIEHH SO & 2,960 12,960 0
01 RXNESHBABES 12,960 12,960 0
OrReZ=Y 2 X X2
8, 0002 *302 1220 2 * 15A 2 +30% 12,960
DIMSHHES HoHSYRAL 261,000 0 261,000
= 180,000
= 81,000
403 RHXISHSRHZO0IH 261,000 0 261,000
= 180,000
= 81,000
01 XXIEHHIRH2 2 261,000 0 261,000
ODIMSHTH B8 YHS 2 H A (400ha) 261,000
= 180,000
= 81,000
olHEY s8I NBAY 420,000 0 420,000
403 RHXISHSRHZ0IH 420,000 0 420,000
01 RXSHAZSE 420,000 0 420,000
OQEY s8I X
20,000, 00021 * 140CH *15% 420,000
MISH MADBE AL 25 24,365,095 22,040,410 2,324,685
= 2,319,000
=l 6,633,000
| 7,649,246
= 7,763,849
FTAJIZ DM R NAY 3,684,515 4,439,500 A754,985
| 2,834,242
= 850,273
403 XIS HSKZ0IH 3,684,515 4,439,500 A754,985
| 2,834,242
= 850,273
01 MXSHRZ2E 3,684,515 4,439,500 A754,985
OFTATI2 THA A RS X (640ha) 3,684,515
| 2,834,242
= 850,273
NS BES SLALI 7,959,000 6,828,000 1,131,000
= 6,633,000
= 1,326,000
403 REXICHH S =0l H 7,959,000 6,828,000 1,131,000
=l 6,633,000
= 1,326,000
01 RXISHK=2E 7,959,000 6,828,000 1,131,000
OXNHSIES SHAL 7,959,000
=l 6,633,000
= 1,326,000




A set
T A

M DEI S42 MMDIE S
el RIOISE MADIE NS BB (et &2
SN EE - SR(EN) - NRAY - BaS 0l &t o e HlRE2
S BHE SHAY 3,458,000 3,120,000 338,000
Il 2,660,000
= 798,000
403 TR SHEX 20| H 3,458,000 3,120,000 338,000
Il 2,660,000
= 798,000
01 RXSHMA2E = 3,458,000 3,120,000 338,000
OClMzS EHE SHAY 3,458,000
Il 2,660,000
L= 798,000
ANEKUHSEMNE AL 1,534,000 1,534,000 0
Il 1,180,000
= 354,000
403 A XISHHSK=201H 1,534,000 1,534,000 0
Il 1,180,000
= 354,000
01 MXISMAZ2E = 1,534,000 1,534,000 0
OANEZ0 SEMNLAY 1,534,000
Il 1,180,000
L= 354,000
LI FUHSSE SIAE X 100,000 100,000 0
403 XHXISHHIS K20l A 100,000 100,000 0
01 MXISHR=LEE 100,000 100,000 0
0Ll FUESZ SIAE X2 (508) 100,000
AMEA T8 X Z2Z2AEX& 930,000 1,237,500 A 307,500
403 XX SHMSK201H 930,000 1,237,500 A 307,500
01 AXESMA2E = 930,000 1,237,500 A 307,500
OANEMA 2N 22 AEXA
65,000,000 *80ha* 15% 780,000
OAZ30 2HTHEHAIE 150,000
AMERNES AR HYX 189,000 210,000 221,000
403 XX SHMSKH20IH 189,000 210,000 221,000
01 AXESHMA2E = 189,000 210,000 A21,000
OANZ30&Es A&EoH LXK
1,400,000& *900ha* 15% 189,000
RS NDSEMLAAIHA 380,500 207,500 173,000
308 XNXISHHSOIH 25,000 0 25,000
01 XM EXS 25,000 0 25,000
Osdg HEgal &Alzl AH 25,000
403 X EHMEAH=01H 355,500 207,500 148,000
01 AXESMIA2E = 355,500 207,500 148,000
Ooduzs N4 S X2 355,500
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A set
T A

Ha: DEI SAS MAIIE 1S
SOl RIGISE MADIE Al S (B9 &2
_ _ _ Muo
S BB H(BH) - MBAY - B2 Ofl & o il o o Hns2
B0 st ST 460,000 440,000 20,000
403 XX SHRIS K20/ & 460,000 440,000 20,000
01 XHXISHAE X 460,000 440,000 20,000
OB2A0 5Tt SIIAHK A (45) 460,000
BRGNS SR K 270,000 270,000 0
403 REXISHSKHZ 0| H 270,000 270,000 0
01 MXCSHI=EE 270,000 270,000 0
OB2A0sIt LsUHAR (65) 270,000
BLRAGSIH HSHED XN 525,000 525,000 0
403 RXISHSXHZO0IH 525,000 525,000 0
01 XIXICHH X2 X 525,000 525,000 0
OBLRASI HSHED LXK
25,000,000 * 1405 * 15% 525,000
DET SHIMAAL AR 150,000 150,000 0
403 RXISHHSKHZ 0| H 150,000 150,000 0
01 XXICHHI2EE 150,000 150,000 0
ODBHH YA & X &
62,500,0002 * 1674 A *15% 150,000
53l =EJLX SAALY 150,000 150,000 0
403 XX SIS K20/ 150,000 150,000 0
01 XXISHA=EE 150,000 150,000 0
OstfI+EIYUS
100,000,000 *107H £ *15% 150,000
A& 210l 0l LA X1 01 8 5 2 3 A2 3,014,700 0 3,014,700
=2 2,319,000
= 695,700
403 XX GRS XH= 0/ & 3,014,700 0 3,014,700
=2 2,319,000
= 695,700
01 XIXICHHTEE S 3,014,700 0 3,014,700
ONELN HUK SS3HAY
77,300,0002 * 100ha*39% 3,014,700
=2 2,319,000
= 695,700
FTAJIZ HEMXSEHE 22 1,194,380 0 1,194,380
| 975,004
= 219,376
403 RXISHSXHZO0IH 1,194,380 0 1,194,380
| 975,004
= 219,376
01 XXICHHA2EE 1,194,380 0 1,194,380
OFTAII2 HEANRSHE e 1,194,380




SH: s
HE: DB M2 MADIE RS
SOl RCISE MAD|IE AL BB (e
_ _ _ Muo
SN BB - MEAY - BES 01l &k o i {imE=Eh
5] 975,004
= 219,376
ITEE AL BARO ALY X2 90,000 0 90,000
403 RHEISHHSR20|H 90,000 0 90,000
01 MXSHAZ2E 90,000 0 90,000
OITES AL BARO ALY X2
20,000, 000! *307H 2 * 15% 90,000
BEZD 25E Mo 23 X 150,000 0 150,000
403 XX GRS XH= 0/ 150,000 0 150,000
01 MXSAX=SE 150,000 0 150,000
OUEZD 2510 MAX23 N
100,000, 0002! %105 Jh15% 150,000
2010EFOI B0l 2 HI3H8ll 828l & Al D} 126,000 0 126,000
401 Al&HIL 20| 126,000 0 126,000
04 B AHZIRIAl&HI 126,000 0 126,000
O2010EHOIHI Ol = I S+l 2+ 2131 & Al & D} 126,000
DEI YUK AHEA Y 2= 114,704,666 128,242, 166 ~13,537,500
= 113,636, 102
= 1,068,564
BASSHNFTS A D2 28,000 28,000 0
= 28,000
201 Yereg| 10,000 10,000 0
= 10,000
01 AtR2elt] 10,000 10,000 0
ORASS 28 MNIFAEAY 22/t
625,0002 * 16AI 2 10,000
= 10,000
202 01t 18,000 18,000 0
= 8,000
01 =Ujoi | 8,000 8,000 0
OBASS B NFASAY ZXO0IY) 8,000
= 8,000
MASS BHNFASALY X2 108,909,000 120,480,000 A11,571,000
=2 108,909,000
308 KHXIEHHI SO & 108,909,000 120,480,000 A11,571,000
=2 108,909,000
01 MXSHAZAHSES 108,909,000 120,480,000 A11,571,000
OBASS BF MFNSAY 27 ZaH X
2 5,000,0002 *16A 2 80,000
=2 80,000
OBASS & MNFNE2 XA (1,724ha) 108,829,000
= 108,829,000
EAZANY MFXSAY N 1,007,784 1,007,784 0




S S
Hu: DEE SA2 MR DS
Sl DEXN SO AHEX JE RS (Etel: &8
_ _ HEC
SA-FH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
= 972,720
= 125,064
308 AHXIEHHISOIH 1,097,784 1,097,784 0
= 972,720
= 125,064
01 HXSHBAEES 1,097,784 1,097,784 0
OXAE2IXNY HFYNSAY =X ZaH X2
3,400, 0002 * 15 2 *79% 40,290
= 35,700
= 4,590
OXAE2XNY HNFNES K&
300, 000! *4, 462ha*7%% 1,057,494
= 937,020
= 120,474
DISSSHEIE AZHZAE KA 2,221,500 3,070,000 848,500
= 1,860,000
= 361,500
403 KHXIGHHSXHRO0IH 2,221,500 3,070,000 848,500
= 1,860,000
= 361,500
01 MXISRR == 2,221,500 3,070,000 848,500
OSERPC(2H4) 900,000,002 274 £ +53% 954,000
= 900,000
= 54,000
OZ# X (30HA)  550,000,0002 «30H 2 *43% 709,500
= 660,000
= 49,500
OMS&D(2)H4)  300,000,0002 «2JH A +53% 318,000
= 300,000
= 8,000
OHAZ BRAAE =HE(2H2) 100,000
ORPC GAP QIS AMY XI 50,000
SHZH AL 2L XY 50,000
OXIIBAE N 40,000
MY o TR XL 15,000 0 15,000
403 XHXIGHHSXHR O H 15,000 0 15,000
01 XA EE 15,000 0 15,000
Os # ZTAMY X 50,000, 000%30% 15,000
DEI 4 SUE SEANY 2,048,000 3, 150,000 A 1,102,000
= 1,760,000
= 288,000
308 XHXIEHHISOIH 208,000 390,000 182,000
= 160,000
= 48,000
01 IXSHBABES 208,000 390,000 182,000




SN
X XH .
S Tt

el

=4kt
s AD18t A=
ns5g 2HIS& D AR
= A [(&1H) - A Aot e i
BdE |4
0 02 *20H 2 *52% 208,000
= 160,000
& 48,000
403 MSA=0lH 1,840,000 2,760,000 920,000
= 1,600,000
= 240,000
01 tesgx 1,840,000 2,760,000 2920,000
BdE |4
2,000,000, 000 *2J4 A~ x46% 1,840,000
= 1,600,000
= 240,000
L= SBE(AIZ) 45,000 45,000 0
= 45,000
308 AbX ol 45,000 45,000 0
= 45,000
01 AtXI = 45,000 45,000 0
JAaEX 2,812,500& x 16 Al = 45,000
= 45,000
32 & 61,382 61,382 0
= 61,382
201 34,382 34,382 0
= 34,382
01 AFR 22| 29,382 29,382 0
o=zl gLt 23| 22,182
= 22,182
oy 2l 7,200
= 7,200
02 23234l 5,000 5,000 0
OLEIA Xt 22 5,000
= 5,000
202 27,000 27,000 0
= 27,000
01 27,000 27,000 0
gRFd 27,000
= 27,000
H 2AxE A& 34,000 0 34,000
403 X HMESAH=01H 34,000 0 34,000
01 AXIEMA2EEX 34,000 0 34,000
AXBZAIE K& 34,000
== N =8 165,000 230,000 265,000
201 30,000 30,000 0
01 A2 30,000 30,000 0
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SN
X ZH -
S Tt

=l

rz
J2

=1
(R
121

30,000

307

80,000

100,000

04

40,000, 000%22]

80,000

80,000

80,000

55,000

55,000

55,000
55,000

55,000

80,000

80,000

80,000

80,000

4,000 *100, 000X x20%

80,000
80,000

80,000

02

79,800

79,800

75,600

75,600

75,600

75,600

37,800

37,800

37,800
37,800

37,800

[N Nell ol Nol Ne)

37,800

37,800

37,800
37,800

37,800

4,200

4,200

4,200

4,200

4,200

4,200

4,200
4,200

4,200

ol o | © | o
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